Homework 1: EE 252 Digital Electronics

Problems from Textbook:

1. 11
2. 14
3. 1.6
4. 1.8

5.- Verify that the logic circuits in (a) and (d) are equivalent. ( Find the expression for
f in both cases and show they are equivalent from truth tables.
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(2] Timing diagram

[d) Metwark that implerments & = x, +x,



6.- Verify that the logic circuit in (c) is represented by the truth table in (b)
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(a) Two switches that control a light {b) Truth table
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(c) Logic network id) XOR gate symbol

*2.7 Determine whether or not the following expressions are valid, 1.e., whether the left- and
right-hand sides represent the same function.

[ﬂ) .f].l:3 +.I].Ig)_£3 +E|_x2 +.Ilfg = )_52.1_1. +x|.f3 +.Iz.f] +f|.ligx_1
(b) x1X3 + xax3 4 Xax3 = (x1 + X2 + x3) (%) + X2 4+ x3) (%) + 27 + x3)
(c) (x1 +x3) (X1 + X2 + X3)(x1 + x2) = (01 + x2) (02 + x3) (%1 + X3)



